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CONTRIBUTION TO THE IDENTIFICATION AND DATING 
OF VLACH �&*-8# IN EASTERN HERCEGOVINA

The Summary

Of the twenty-one identified Vlach ���,�� (gravestones) found in nine necropolises in
eastern Hercegovina (on the relatively small territory occupied by the Lower Vlachs –
today’s communes [	2.��
�] of Stolac, Ljubinje, and ����,�), seven are in the form of slabs
or plates (3 in Boljuni, 2 in 4���	��,�, and one each in Kruševo and Obosko), while six are
in the form of above-ground chests or standing blocks (sanduci) (2 in Premilovo Polje and 1
each in Radimlja, Boljuni, /��.��	, and Hodovo).  Four sarcophogi are in Radimlja, one
each in Boljuni, Premilovo Polje, Krtinje, and Udori. Vlach vojvode (dukes), princes, and
katun heads (katunari) were buried under all kinds of monuments and especially sarcophogi
and ornate blocks, while ordinary Vlach herdsmen were buried under simpler tomb plates,
some marked with crucifixes, others without.

The ���,�� in question date mostly from the last quarter of the fifteenth century, cor-
responding chronologically with information found in the trading log of the Dubrovnik mer-
chant 3���
����2+�
	��,, as well as with two Turkish census books, one a detailed enumera-
tion for Hercegovina, the second a less-detailed summary for Bosnia. This does not mean
that above-ground Vlach grave markers did not exist on the territory of eastern Hercegovina
before or after the late fifteenth century, but there are no other written sources that would
confirm their existence. 

In addition to the names of the deceased, the steæci occasionally give the names of
persons associated with their manufacture, e.g., stonecutters like the blacksmith Miogost,
Ratko �����
	��,, and ��� �+ (possibly a domestic, the creator of numerous ���,�� in the
necropolises of 62��+�,� and Boljuni); and also scribes, such as the famous “dijak” Semorad
from Boljuni.
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